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Plot Sensor and FgRec Data
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Trend plot forP3-13 0
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P3-13
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13:20 294 150.0 |Z=| {Rige13:20 Bzh (GRE{EESE)
14:05 294 150.0 (8 =| 1Ri%e14:05 Bz (kBFERESE)
14:45 294 150.0 |Z=| 1Rige14:45 Bzh GGREMERESE)
23t 1176.0 (4%) 600. 0 32 HEKEC: 2080.0, PH: 5.6

FEREAERE STEAETRSE (191.0 : 135.0), AHEHRTF—@AZ XFH4
RGEBIRT K (294) 558 (326. 0) A FF, W REHIT % MREIERS % XIER
ZRIAKFREBRE135. 0 ml.

REFSERTEC (2700.0) 5iZFEEC (2000.0) REK K, HHE

B [ERECE (2700.0 vs 4845.0) i35
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P3-13_0, Day=44 (2025-05-14)
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P3-13

BYiE) | GEBIRTIK (D) | EBE (EA/#K) | XS SRR

07:10 294 150.0 A5 {Ri%e07:10 Bzl (REERER)
07:55 294 150.0 R5| {Ri&e07:55 Bzl (REERSE)
08:40 294 150.0 BS| 1Ri%e08:40 Bz (RF{EEEE)
09:40 294 150.0 Rg| 1Ri%e09:40 B (REEREE)
10:25 294 150.0 el Rige10:25 Ba) (REAEHSE)
11:10 294 150.0 Bl BRigeli1:10 Bz GGREAERSE)
12:00 294 150.0 | Ri%e12:00 Bz (RF{EREE)
12:50 294 150.0 el Rige12:50 Bal (REAEHSE)
13:35 294 150.0 RS {Rige13:35 BHa (REAEHE)
14:25 294 150.0 S| Ri%e14:25 Bz (REERESR)
15:20 294 150.0 | =| 1Ri&e15:20 Bz (RPBEEE)
23t 3234.0 (11)%) 1650. 0 32 HEKEC: 2080.0, PH: 5.6

FEREAERE STEAETRSE (191.0 : 135.0), AHEHRTF—@AZ XFH4
LORFEBIRTC (294) 57140 (326. 0) FF, FIEEH T X BRERS EXIER
ZRIASEPRIERE135.0 ml.

REREBIEC (2635.0) Hi&EEC (2000.0) REIK, BHE
H[E;KECE (2635.0 vs 4285.0) 05



P3-13_0, Day=43 (2025-05-13)
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P3-13

BriE) | EBIETK FD) | EE (EH/HK) | XK ERE

07:10 294 150.0 |Z=| 1Ri&e07:10 Bzh (GREB{EEEE)
08:00 294 150.0 |Z=| 1Ri&@08:00 Bzl (kFA{EEE)
09:05 294 150.0 FA| 1RRi%@09:05 Bz (kA{EREE)
09:55 294 150.0 FH| 1Bi&@09:55 Bah (RAMEREE)
10:55 294 150.0 FB| {Ri%e10:55 B#E1 (RAHFERSE)
11:45 294 150.0 FE| 1BRi%e11:45 Bz (kAFERSE)
12:45 294 150.0 FA| {Rige12:45 Bz (RAERSE)
13:35 294 150.0 FA| 1BRi8@13:35 Bzh (kRAEEE)
14:30 294 150.0 FA| 1BRi%@14:30 Bz (kAFERSE)
15:40 294 150.0 FA| 1Ri%@15:40 B (RAERE
16:55 294 150.0 FA| 1BRi18@16:55 Bzh (RAEEE)
23t 3234.0 (11)%) 1650. 0 32 HEKEC: 2080.0, PH: 5.6

MEREHERE STMAAEARS (191.0 : 135.0), AIREHTF—@E XAH4
LOREBIRTC (294) 57140 (326. 0) AFF, FIEEH T X BRERS EXIER
ZRIASEPRIERE135.0 ml.

large discrepency for begining water status (225:3.0), set to 225 ml.
REFREBIEC (2610.0) H5iZEEC (2000.0) REIK K, BHHE

B 5KECE (2610.0 vs 4075.0) RS



P3-13_0, Day=42 (2025-05-12)
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